
Skema ppc kertas 1 set 1 2020 

 Skema pemarkahan   

1 a). Alpha- sisihan piawai terendah 
 
b). Alpha = P and Beta=Q 

B1 
 

B1 

 
 

2 

2 𝑚 =
𝑛

2
 

 
 
1

2𝑚
∙
𝑛(𝑛−1)!

(𝑛−3)!
=

(𝑛−1)!

(𝑛−3)!
 And 𝑛(𝑛 − 1)! seen 

 

B2 
 
 
 

B1 

 
 
 
 

2 
 

3 𝑝 =  √29 − 𝑘 
 
𝑘 = 29 − 𝑝2 
 

𝑘 =  
232

8
− (𝑝)2 

B1 
 
 
 
 

B1 

 
 
 
 
 

2 

4 63.18 
 

59.5 + (
60 − 53

19
)10 

 
𝐿𝑄3

= 59.5, 𝑎𝑛𝑑, 𝐹𝑄3
= 53, 𝑎𝑛𝑑 𝑓𝑄3

= 19 

B3 
 
 

B2 
 

B1 

 
 
 
 
 

3 

5 -0.4π 
 
4π × (-0.1) 
 
𝑑𝑉

𝑑ℎ
 = 

1

4
 πh2 or 𝜕ℎ =  −0.1 

B3 
 

B2 
 
 

B1 
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6 a). -3 
 

b). 
−9

(𝑢−3)2
 

 
𝑑𝑣

𝑑𝑢
=

(𝑢 − 3)(3) − 3𝑢(1)

(𝑢 − 3)2
 

 

𝑣 =
3𝑢

𝑢 − 3
 

B1 
 
 

B3 
 

B2 
 
 

B1 
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7 a). 15 
3 × 5 

 ba)(3)( xfdxxh

b

a

   

 

b). 𝑘(𝑥) = −𝑥3 +
5

2
𝑥2 − 𝑥 +

1

2
 

 

𝑐 =
1

2
 

 

𝑘(𝑥) = ∫−3𝑥2 + 5𝑥 − 1𝑑𝑥 

B2 
 
 

B1 
 
 

B2 
 
 

B1 
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8 a). 1 
 

b). 𝑘 =
4

3
 

3𝑘 − 4 = 0 
 
 

B1 
 

B2 
B1 
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9 a). 
~~

96 caAP   

𝐴𝑃⃗⃗⃗⃗  ⃗ = 𝐴𝑂⃗⃗⃗⃗  ⃗ + 𝑂𝑃⃗⃗⃗⃗  ⃗ 
 

b). 
5

4

~
a  

16)8)(5(
2

1

~
a  

B2 
 

B1 
 

B2 
 

B1 
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10 a). 𝑛(𝐴 ∩ 𝐵) = 0 
b).B and D 
c). A and C 

B1 
B1 
B1 
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11 a). 3 
 
b).  
10°, 50°, 130°, 170° 
 
 𝑆𝑢𝑑𝑢𝑡 𝑟𝑢𝑗𝑢𝑘𝑎𝑛 30° 
 

B1 
 
 

B2 
 

B1 
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12 119.3787 
 

2

1
X 252 X 0.52 – 

2

1
 x 10 x 10 x sin 120.41   

*[ 162.5 – 43.1213 ] 
 
ATAU 
 

2

1
X 252 X 0.52 – 

2

1
 x 10 x 10 x sin 2.1016 rad 

*[ 162.5 – 43.1200 ] 
 
 

2

1
X 252 X 0.52 ATAU 

  

2

1
 x 10 x 10 x sin 120.41 atau 

2

1
 x 10 x 10 x sin 2.1016 rad  

    
 
j = 25 cm 
 
 
 
 
 
 

B4 
 

B3 
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13 a).  

 
log2 𝑦 = log2 𝑎 + 𝑥 log2 𝑏 
 

b). 
3

2
 

 
 
 
 
 
 

B2 
 
 
 
 
 

B1 
 

B1 
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14 a). 8 − 2(
1

2
)
𝑛

 

 

𝑆𝑛+2 =

4(1 − (
1
2)

𝑛+2

)

1 −
1
2

 

 
b). 𝑛 > 6, 𝑛 = 7 
 

4(1 − (
1
2
)
𝑛+2

)

1 −
1
2

−
4(1 − (

1
2)

𝑛

)

1 −
1
2

<
3

32
 

 

𝑆𝑛+2 − 𝑆𝑛 <
3

32
 

 

B2 
 
 
 

B1 
 
 

B2 
 
 
 
 

B1 
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15 24,29,34,39 
 
𝑛 = 10 𝑎𝑛𝑑 𝑇𝑛 = −21 + 9(5) 
 
−21 + (𝑛 − 1)(5) − 21 + 5𝑛 − 21 + (𝑛 + 1)(5) − 21 + (𝑛 + 2)(5) = 126 
 
𝑇𝑛 + 𝑇𝑛+1 + 𝑇𝑛+2 + 𝑇𝑛+3 = 126 

B3 
 

B2 
 

B1 
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16 𝑥 = √3
3

 
 
log2 3

3
 or log2 3

1

3 seen 

B2 
 
 

B1 

 
 
 

2 

17 
𝑥 = 2 𝑎𝑛𝑑 𝑥 =

1

16
 

 
log2 𝑥 = 1or log2 𝑥 = −4 seen 
 
log2 256 = 8 𝑜𝑟 2 log2 𝑥  OR 8 log2 2 𝑜𝑟2 log2 𝑥 seen 
 

Change base, 
log2 256

log2 𝑥2 − log2 𝑥 = 3 

B4 
 
 

B3 
 

B2 
 
 

B1 
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18 a). m=-1 
 
b). 𝑛 = −4 
 
(−4)2 − 4(−1)(𝑛) = 0 

B1 
 

B2 
 

B1 
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19 𝑐 = 1 
 
𝑏 = 4, 𝑎 = −2 both 
 
𝑏 = −2𝑎 𝑜𝑟 𝑎 − 𝑏 = −6 

B1 
 

B2 
 

B1 
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20 𝑝 = 49 
 

𝛼 =
7

2
 

 

3𝛼 =
21

2
 𝑜𝑟 2𝛼2 =

𝑝

2
 seen 

 

B3 
 
 

B2 
 
 

B1 
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21 𝑟 = 5 
 
𝑟 = 5 𝑎𝑛𝑑 𝑟 = 1 
 
(𝑟 − 1)2 + (𝑟 − 2)2 = 𝑟2 

B3 
 

B2 
 

B1 
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22 a)i). yes 
ii). No 
iii). No 
 
All correct B2, two correct B1, one correct B0 
 
b).  

 
Sketch 𝑓(𝑥), 𝑓−1(𝑥) and 𝑦 = 𝑥 
 
Sketch 𝑓(𝑥) 𝑎𝑛𝑑 𝑓−1(𝑥) 
 

 
 
 
 

B2 
 
 
 
 
 
 
 
 
 
 
 
 
 

B2 
 

B1 
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23 a). 
4

3
 

 

b). 𝑦 = −
3𝑥

4
−

7

7
 

 

(𝑦 + 4) = −
3

4
(𝑥 − 3) or −4 = −

3

4
(𝑥 − 3) 

 

Midpoint=(3,-4) or 𝑚 = −
3

4
 

B1 
 

B3 
 
 

B2 
 

B1 
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24 a). {𝐻𝐻𝑇,𝐻𝑇𝐻, 𝑇𝐻𝐻} 
 
b).  

 
Sketch and plot all point/graph correct 
 
Sketch and plot one point/graph correct P(X=x) correct 
 
0.125 or 0.375 seen 
 
𝑃(𝑋 = 0) = 0.125, 𝑃(𝑋 = 1) = 0.375, 𝑃(𝑋 = 2) = 0.375, 𝑃(𝑋 = 3) = 0.125 

B1 
 
 
 
 
 
 
 
 
 
 
 

B3 
 

B2 
 

B1 
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25 a) 720 

 
b) 24  
 

2

2P x
1

2P x 3

3P  

 

B1 
 
 

B2 
 

B1 
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